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Q1 . ¥¥H)= [FILTH)

initial condition : Ico)=[ In ]

a) dÉ¥H) = [%?jf¥c→

let It)= [%¥, ]

Then

¥±⇔= -1¥"" / = -17%1%7+1=-1-9""" ]¥+4241 -24211-1

{
¥411-17=-9*11+1

→ homogeneous D- E-

⇐ 424-1=-29121-1) } we know how to solve both !Idol = [ 711101 ]
= [ In ] , aloft 712101=3

712107

① 1-+71111-1=-99114-7 → Hit = day e-
at
= e-at

② ¥71247 = -27121+1 → 421+1=4210752-1--252-1

¥cH=[ '"⇔ ] = [ e-
at

7124-1 352-1 ]



b) dYd = -5911+1 -12yd-1)

dYg¥ = Gynt -6921+1

9TH = [911-11
g.⇔
]

¥
Eisai = [¥"" / = -1%1119%1,] → ¥y⇔= -1-5%15*1¥9247

a I⇔= -1,1¥, ]

{
ylt) = - YYH) -12521+7

µ ←

Y2H)=2yYt) +352A)

ytk VIED ④
-

[
YIH)

Yat ]
= [{ G) [9%+1521+1] ⇒ YA> = [In ]y~⇔

" =/ 1%11-4.im#il:-:1---:-EEd-- [⇒ ÷ ]
¥ ¥



Summary :

Yet)=VÉH)=[É]≈y⇔
Ict) = V'yTt) = [317 217 ] Ja)

2117 1117

T
d) YYO) = [?]

¥☐=v→ñ⇒= -5%5%7-171=[7%1--51]

e) ¥94K [% %] JH) ← in terms of Ict)

⇒= V.Est) )

⇒ ÉV≈y = [{ If] V - Igt)

V¥≈ytD= [-8%1%-1]

¥≈yt = V-' [? % ] VIED
↓

r't::n=i¥¥ ]-1%11%1=-1: :i
⇒ ¥≈ytD= [%%]≈yt → homogeneous D. E. same as part (a)



f) dÉ≈y⇔=[9%1%+7

¥HI=[
- e-9-1

352-1 ] from partca)

Jt=V≈yED
win

= .tt?y-L-e-9t3e-2-)=(e-9--6e-21-2e-9--qe-2t ]


